SItS Instrukcja montazu

— comfortable life Assem bling InStrUCtion

Montageanleitung

linstruction de montage

ELIS

it

[/

-} -} -]
=] |[F
1
N - E— Lo o Lo ol
strona/page/Seite 2

.m @ no 141
o
®
232

strona/page/Seite 2

no 177
o
®
@25

strona/page/Seite 3

o no 154A
US 5x35 @20 o 220
C x2 D x1 D x1
@27
strona/page/Seite 3 W
@ no 179 = M8x20 %
- E x2 F x2
932
strona/page/Seite 4
@ E no 179A j 3 and &
- M8x20 8,5x22
[ ' E x2 F x2
852
strona/page/Seite 5
no 179B W® @
@ 8 M8x20 8,5x22
[i j - E x2 F x2

560

1

ELIS 04-2019



strona/page/Seite 3

@ no 104 ) <<= Q

8 M8x25 8,5x22 ¢30
o G x2 F x2 B x4

830
strona/page/Seite 5

no 104 ) <= Q

@ 8 M8x25 8,5x22 $30
- G x2 F x2 B x4

560

2

ELIS 04-2019




F
N YN
/) ﬁ@
2

p X
_. 0!
\\ i
1 /
‘ @((((((((((( /

Q

3

ELIS 04-2019



ofo C\_//i | |
oo ( (
al (

3] F

({(q

P s

P X

/;i
— ./F/E
/

@(((((((((((@

\@»))))

3

)

4

ELIS 04-2019



ELIS 04-2019



@ 1®




10

11

vy
—
@

SN

1x

\

0-
s

\/‘ D

7

ELIS 04-2019



12

Zachowaj instrukcje / Please keep instructions / Bewahren Sie die Anleitung
Merci de garder linstruction / Guarde las instrucciones

8 SITS Sp.z 0.0., ul.Sikorskiego 60, 87-300 Brodnica, POLAND

ELIS 04-2019




